

Name: Cotterell Anna Obalari 19184011035

① Find the equation of the tangent of point  $(1, 0)$  on the circle  $x^2 + y^2 - 5x - y + 4 = 0$

①  $x=1$   $y=0$

$$\frac{\Delta y}{\Delta x} : 2x + 2y \frac{\Delta y}{\Delta x} - 5 - \frac{\Delta y}{\Delta x} = 0$$

$$2x - 5 = -2y \frac{\Delta y}{\Delta x} + \frac{\Delta y}{\Delta x}$$

$$2x - 5 = \frac{\Delta y}{\Delta x} (-2y + 1)$$

$$\frac{2x - 5}{-2y + 1} = \frac{\Delta y}{\Delta x}$$

$(x=1, y=0)$

$$\frac{\Delta y}{\Delta x} = \frac{2(1) - 5}{0 + 1}$$

$$\frac{\Delta y}{\Delta x} = -3 = m$$

$$y = mx + c ; y = -3x + c$$

$$0 = -3(1) + c$$

$$c = 3$$

$\therefore$  equation of tangent :  $y = -3x + 3$

②  $x^2 + y^2 - 12x - 12y + 47 = 0$  at  $(1, 0)$

$$\frac{\Delta y}{\Delta x} : 2x + 2y - 12 - 12 \frac{\Delta y}{\Delta x} = 0$$

$$\frac{2x - 12}{-(2y - 12)} = \frac{\Delta y}{\Delta x} = m$$

$$x=1, y=0 \quad \frac{\Delta y}{\Delta x} = \frac{2(1) - 12}{-(12)} = \frac{-10}{12} = m$$

$$m = -\frac{5}{6}$$

$$y = mx + c$$

$$0 = -\frac{5}{6}(1) + c$$

$$c = \frac{5}{6}$$

$$y = -\frac{5}{6}x + \frac{5}{6}$$

OR  $6y = -5x + 5$

③  $x^2 + y^2 - 8x + 14y + 40 = 0$  at  $(1, 0)$

$$\frac{\Delta y}{\Delta x} : 2x + 2y - 8 + 14 \frac{\Delta y}{\Delta x} = 0$$

$$\frac{2x - 8}{-(2y + 14)} = \frac{\Delta y}{\Delta x} = M$$

$$\left( x=1, y=0 \right) \quad \frac{2(1) - 8}{-(2(0) + 14)} = \frac{2 - 8}{14} = \frac{-6}{-14} = \frac{\Delta y}{\Delta x}$$

$$\frac{\Delta y}{\Delta x} = M = \frac{6}{14} = \frac{3}{7}$$

$$y = mx + c$$

$$y = \frac{3}{7}x + c$$

$$0 = \frac{3}{7}(1) + c$$

$$c = -\frac{3}{7}$$

$$y = \frac{3}{7}x - \frac{3}{7}$$